Math 173 - Quiz 1
January 31, 2013
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Show all work to receive full credit. Supply explanations when necessary

(2 points) Find the vector of magnitude 4 that has the direction of 7 = 47 — 2j — 3k
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2. (4 points) Let @ = i — 2j + 5k and let  be the vector of length 2 in the zy-plane that
makes a 60° with the positive z-axis. Find the ang‘le between 4 and W
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3. (3 points) Let P, Q and R be the points (1,2, -3), (5,0,—1), and (4, —2,1), respec-
tively. Compute PQ x PR.
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4. (1 point) Find a nonzero vector orthogonal to @ = —9% + j + 8k.
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